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QUESTION 1

An analyst for a movie producer is making an Explore query to show total box office revenue by movie. The initial query
has three dimensions: 

Ticket Purchase Month Movie Name Ticket Revenue 

The analyst notices that the numbers look a lot smaller than expected and the results are difficult to 

understand. 

What should the analyst do to make the Explore query show the desired metric? 

A. Remove the Month dimension and the Ticket Revenue dimension from the query. Add the Sum Revenue measure. 

B. Remove the Ticket Revenue dimension from the query. Add the Sum Revenue measure. 

C. Add the Sum Revenue measure to the query. 

D. Add a table calculation that sums the Ticket Revenue dimension. 

Correct Answer: C 

 

QUESTION 2

A global dashboard filter and the filter on a tile within that dashboard conflict because the global dashboard filter and the
individual tile filter are based on the same field with different filter values. 

What happens in this situation? 

A. The filter values of both filters will combine in an additive manner and both filters will apply. 

B. The individual tile\\'s filter will override the global dashboard filter. 

C. The global dashboard filter will override the individual tile filter. 

D. The dashboard will break and warn the user that there are conflicting filter values. 

Correct Answer: C 

 

QUESTION 3

An analyst has a dashboard with table visualizations that display the first few results, and the user can scroll down to
see the remaining results. The analyst wants to download a PDF of the dashboard. 

How should the analyst ensure that the PDF shows all available results in the UI dashboard? 

A. Select the Expand Tables option. 

B. Select the All Results option 
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C. Select the Allow Scroll option and specify each table. 

D. Select the Paper Size option and specify a large size. 

Correct Answer: A 

 

QUESTION 4

A company has an operational dashboard that needs to display the latest data every 5 minutes on a monitor. 

How should the analyst configure the dashboard? 

A. Set the dashboard schedule to run every 5 minutes. 

B. Set the dashboard auto refresh to 5 minutes. 

C. Set the dashboard to run on load every 5 minutes. 

D. Set the dashboard schedule to 5 minutes and "send if the results have changed". 

Correct Answer: A 

 

QUESTION 5

An analyst has created a line chart with Value Labels enabled, but the values are too long and need to be abbreviated. 

Which visualization option should the analyst utilize to alter the display of the value labels? 

A. Axis Value Labels 

B. Value Format 

C. Label Rotation 

D. Time Label Format 

Correct Answer: B 
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